JL_

Combining Amounts (with Fractions)

Name:

Usethetablesto answer each question.

1)  Thetable below shows the height of
several boxes. What is the combined
height of all the boxes?

sk | "ihes
Box 1 51/5
Box 2 71/8
Box 3 41/2
Box 4 54/6

2)  Thetable below shows the capacity of
several water coolers. What isthe
combined capacity of al the coolers?

Cooler Capacity (in
gallons)
Cooler 1 81/4
Cooler 2 72/6
Cooler 3 43/6
Cooler 4 23/5

Answers

3)  Thetable below shows the weight of
several bags. What is the combined
weight of all the bags?

59 | ilogramy
Bag 1 37
Bag 2 77,
Bag 3 67,
Bag 4 57,

5)  Thetable below shows the length of
several roads. What is the combined
length of all the roads?

Road Dis,rtnaliT;e) fix
Road 1 97,
Road 2 37,
Road 3 57,
Road 4 47,

4) The table below shows the weight of
several phones. What is the combined
weight of al the phones?

Phone V\gigz;()' !
Phone 1 61/6
Phone 2 81/6
Phone 3 92/6
Phone 4 11/6

6) The table below shows the weight of
severa vehicles. What is the combined
weight of all the cars?

Car Weight (in
tons)
Car 1 67,
Car 2 47,
Car 3 77,
Car 4 87,
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Combining Amounts (with Fractions)

Name:

Answer Key

Usethetablesto answer each question.

1)  Thetable below showsthe height of 2
several boxes. What is the combined
height of all the boxes?

Box 1 575 57120
Box 2 77, 77120
Box 3 47, 4710
Box 4 54/6 580/120

3)  Thetablebelow showstheweight of  4)
several bags. What is the combined
weight of all the bags?

59 | ilograms
Bag 1 37, 370
Bag 2 77, 7Y
Bag 3 67, 60
Bag 4 57, 5%

5)  Thetable below showsthelengthof  6)
several roads. What is the combined
length of all the roads?

Road DisrtnaiT;e) fix

Road 1 97, 9754
Road 2 37, 3%
Road 3 57, 57,4
Road 4 VA 474

The table below shows the capacity of
several water coolers. What isthe
combined capacity of all the coolers?

Cooler Capacity (in

gallons)
Cooler 1 81/4 815/60
Cooler 2 72/6 720/60
Cooler 3 47, o
Cooler 4 23/5 236/60

The table below shows the weight of
several phones. What is the combined
weight of al the phones?

Phone V\ﬁﬁz;()in
Phone 1 61/6 67,
Phone 2 81/6 81/6
Phone 3 9% 97,
Phone 4 11/6 11/6

The table below shows the weight of
severa vehicles. What is the combined
weight of all the cars?

Car Weight (in
tons)
1 8
Car 1 6/3 6/
Car 2 VA 4754
Car 3 1A 77on
Car 4 87, 8%

Answers
1 2259 120
2 2241 60
3 2314 30
4 245 6
5 2211 24
o 26/,
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